1. Po3B’siKITH HEPIBHICTH:

1)6x>18;  5)10x<0; 9) 5 -8x > 6;

2)-2x>10; 6)-Tx>=; 10) 12 + 4x > 6x;

) x>12;  7)7x-2>19; 11)36-2x <4x;

x+2

4)0,1x>0;  8)5x+11<12; 12) —<2.
2. Po3B’s1KITh HEPIBHICTB:

1)0x>10; 3)0x>-8; 5)0x>1; 7)0x<0;

2) 0x<15; 4)0x<-3; 6)0x<2; 8)0x>0.

3. Ilpu SIKMX 3HAYEHHAX X Ma€ 3MICT BUPA3:

1
1) Vax — 3; 4) vx+ 5+ E,
. - 5
2) V5 —11x; 5) w.,."S—lE.‘r+I2_4;
7 . X
3) Torie ) I ——

4. Po3B’s1KITh HEPIBHICTD:
DN5-2(x-1)>4-x;
2) 0,2(7 —2x) <2,3-0,3(y — 6);

3) x(4x+1) — 7(x* — 2x) < 3X(8 — X) + 6;
4) (4x — 1)* — (2x — 3)(6x + 5) 4(x — 2)* + 16x.

5. 3HaiiAiTh HAMOUTBIIMHI 1M PO3B’I30K HEPIBHOCTI:
1)2x+9>4x-T7;

2) 7(x +2) — 3(x — 8) < 10;

3) 14x% — (2x — 3)(7x + 4) < 14;

4) (x —4)(x 4)—5x>(x—1)*-17.
6. CKIIbKH LIUIMX BiJ’€EMHHUX PO3B’S3KIB Ma€ HEPIBHICTH:
x+7 1lx+30 P xX—9
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7. Ilpu SIKMX 3HAYEHHAX X BU3HAUYE€HA (PYHKIIS:



1) fx)=+x+4+ ! :

x—2
2 x)=+24-8Bx + :
) 1(x) * —16
1 8
3) f(x)= -
V3r+9 |x|-2,

8. Po3B’sikiTh piBHsSHHS: 1) [X—2|+X=2; 2)|x+3|-X=2.



